p.77

1T

S=1:1,000

56



S 1:500

57



10

Oy

S=1:600

58



N\

S=1/ 150

o

S=1/ 150

S=1/ 150

S=1/ 150

59



40

250

~ / S ARAN
.
N - - 2 ‘5o
H .
SEsEsEEsEEsEsssssEsssssssEEEsEEnEsessessessesnsnnnnnnnalnnnnnnnnnannnnnnnn

—
~~

$=1:600

60



P - $=1:600
/7
0/‘
/7
7N
)A__N\
w2. H3. .
\\\\ 5 x<H3.5 ~.
\.
\\\
AR
AN
AN
AN W2.5  >H2.5
AN
AN
NN -
2.5 1.5 \ ST
P N N AN
N v
e {
(.\
\
-\
\. \6_"\,"—\\
/ ‘\
\
A N\
R @800 - . R .

61




p.61

S=1:500

62



s
.
-

_

—
s
-
-
.
i

o
=
-
-
-

s

-
~

-

e
-

o

-

s

e
.
.

-
-

-
.

-
-

-

s

-
-

.

-
-

-
o

.

63



3)

64



p.14

ARl

p.13

p.8 p.34

15

21

15

16

20

18

21

65




ELELR

© © N o U AW N e

=
o

[N
[N

[N
N

X

00

|:|A

15

WWWWWWWW 13
:] 14
:] 15

16
[ v

18
[ a9
20
21
22
23
24

16

20¢p

elelel e

15

18

l

10 15

1

66



/100

v T 16 19m

8 1im

0.1 0.7m

225m? w25<

10 15 10

No.5

R
A

100 m?

¥

. 2
"y plrdee

E2<=

20

20cm 10 12
Tl 16 21m
T2 6 8m
S 1.5 3m
H 0.1 0.5m
No.6
[ J

100 m?

NNE3 =

14 17m

1.2 1.5m

0.1 0.5m

10cm

60

70 /100

NE35

15m

NW50<=

L

15 18m

7 1im

1.5 4m

0.3 0.8m

67



68





